Addal247]

Exam Date 09/12/2024
Exam Time 9:00 AM - 11:00 AM

GETIT ON
Google Play

Combined Hindi Translators Examination 2024
Paper |

Section : General Hindi

Q1 fefafad ¥ ¥ vha I Fdfoa are &-
Ans X 1.3 9= 9gd AaM €l

o 2. RS SRIW I @ 2

X 3.5 diF el § 9T Rt 81

K 4. 7 AT BT s T a@nfen

Q.2 (1) #Ha Sfiae F1 387

() 3UTT TRHTIP Wi A

(@) 3R 3 g @t

() 3nerER &

(1) T34 Ud UHATH

(6) Sita 71T <t AT HRAT 1

TARY 32 PY 3 FATAR @afa = wE fawea gfiv
Ans X 1.%,@, 17,9

29T E "

K 3udTE

& 4.7,T, 9

Q.3 i ¥ A foow arera o ‘3mre’ & wEt faeim ereg &1 v ganm 27
Ans o 1. 3FHI QB ICEATE B |

X 2. TRl 3T BT BT TR T8 B T |

X 3. RUE 3T 3MaTF & |

X 4. TP FHT TR HATIR FRAT € |

Q4 fFfafEd gera H eargde ue 3R 3uee fiwea ¥ F 3faa 3ref aret fawe &1 gma w3
2rel N BTeT BT
Ans 1 TEEAT
X 2.7 # daps fHamT
3. 2 FET

4 AT TR SAT

Q.5 ffafEa ¥ ¥ o F gfe F s araa 2-
Ans X' 1. TH BII SLH & &A1

o 2. TE WHEA B3

% 3.1 T8 JATeHT &

X 4. B AT R T W 3T
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Q.6 fafafda fawe ¥ wafaar e Hf g ¥ shfa faee g 2
Ans X' 1 IHGST

K 2.377-39

& 3.3We-3w

o 4. AT

Q.7 fafafEa ae # wemyde ue 31 qarg & avga faeea) ¥ ¥ s fawe f[fFa erg &1
ot 2reg 31
IR I g gl
Ans 1 afd
X 2. &
* 3.0
X 4. TfEa

Q.8 fare ¥ forg yatgart 2reg 2-

Ans X' 1 g<x
o 2. fofia

X 3.fRE
PN

Q.9 AT AT WIATH BT 9 B fFHA fiar & B aret HT 9N B, Y FIT Bel A1 @ 2
Ans X' 1. 3m@H

* 2. 3T

# 3. 9w

& 4. Fara

Q.10 fimfafEd faeedl ¥ ¥ B 91 1@ aeg ad-t Hi gfe J g d?
Ans 1. 3 TXHd B AGEIRS T T8 &

K 2. BT dcpifeies THTd 8T g |

X 3,39 9qd P fAgh 3uoms B

X 4. T TP T BT 39 B

Q.11 g7 § "B 1 ST 2reg T 82
Ans X 1. It

* 2. BT

3. Fafaat

X 4. Bl

Q.12 I Yo T TRVT 99 A 9% W aIRva & a1 3 T ereg i ad Ffequf 3-
Ans X 1. 3T

& 2.9

& 3. TR

o 4. IR0T

Q.13 3y M 3 fareped & 39T 21 1 aifiie Suge wanT gan §-
Ans o 1. HIgHAT agd el el &

X 2. g 9§ eI M 8

X 3. IS agd @RI e @

X 4. HIEHT 9gd T Tt @
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Q.14 3799 3ifBR, 2wt 3iR Yead i aTeR 3gHR Rl Ieefa A & ' a1 &b {F 2reg W adt Hi
e
Ans X 1. 3oufaAT
® 2. fIeR
o 3. G

X 4.

Q15 AR A @S 3w a1 A’ e 3 $Y g 3z 21k gRT Hifog
Ans PR

X 2.3

& 3.3

o 4. 3T

Q.16 fimfafEd ¥ A e araa ¥ s & faei 2reg &1 v gam §
Ans X 1. ofurelf eHaT I o T 3R R

o 2. TR 8 BT UE W Y Wi 2

X 3. 7Y WG BT HAR W 37 ATEH g

7 4. B areh it -t T fas &t €

Q17 (i) 7 sIwem Ay fafesra ¥/ (ii) 6 e (jii) i 7€ 3o arer F o @os ¥ JfE § 39T
ferepe A s @ Ffe T fawea gfig-
Ans 1. P IR TE
> 2
K3
X 4 ii

Q.18 fimfafEd ¥ A fra 1o ara ¥ wRaaHt siglfE &2
Ans X' 1. gH IHIICT BT UTS P B

7% 2. ¥ 3T Pef Bl & 8|

X 3. B1er uRaR et aiar g 8]

o 4. 317 g erdt faafitar g

Q.19 ffafE gara F eyl u¢ 31 3ueer fwea ¥ ¥ 3faa aref aret fawe &1 gma &
TR T Fe S
Ans X 1. BfsTuRRem
# 2. MBI AR
X 3. FEE
o 4. ATIaT g

Q.20 fmfafEa ¥ & agae ¥ Weifta are -
Ans X' 1 9R gdET T

X 2. g aTel faa st 21

& 3. Tg a1 g@ g

o 4. TET R o T wEa E

Q.21 qrd BI U GETeR T 3fea 3ef &-
Ans X 1. 91d B AT 3R

7 2. 9gd a1d P arell

% 3. 9ral ¥ wifeR

& 4. T BT UFHT
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Q.22 i ¥ & fopw arera ¥ Fsfer & wEt faaim ereg &1 waivn gam 372
Ans o 1. 3GHI 3T Toret off |

X 2. 37T RT3 & |

3. 39 YA H 3T T AT |

X 4.3 W Igd Hras T |

Q.23 ffafea ¥ J {5 v are § aiemie s)fE 82
Ans o 1. FC A T g

K 2 AT T AR

X 3. fafom wiur - T amerdt 3|

X 4. TN HSTERY BT MU FRAE |

Q.24 fymfafEa ¥ I el vaparay ¥ gfeerm ara=it srfg & 2
Ans  of 1. BRI TR BT TRBR SaT & Feraared de Fie el ¢
X 2. 30 3T W 7Y Fepet T
X 3. T B w FoTe gee & ARy
X 4B Eed

Q.25 =R T yeur T @ 3 3ref A AT F 9 oy wgerert @61 v ghm-
Ans X 1. 3iE BT ART

75 2. 37T BT Yefell

X 3. 3 et

o 4. 37O TR BT IoTTeA

Q.26 fawfeifea ¥ & foow foew ¥ 3fara geray 1 wanm 78 fisar man €2
Ans X 1. 3TTSTRet 3T Al STl €1 Tel fietd, 3T SHIe Sit 377 &
X 2. IR O & A1 M BT {OeRT | 9t 8 et T &
X 3. 3o i & at At el &, 31 1 eireft el He Ry
o 4. TOR ¥ GaHB SR &l 381 U eidl ¢, IHeb! 3BT & (a1 Yeb UgTs deb 8l gedl

Q.27 wifei $ gfe F g araa 3-

Ans X' 1. g% & aRfAfT H 3men ST & =nfen
o 2. &9 R uRfRAT § 3mem g91g 3wt anfeg)
* 3. & w IR # 3mem 991g Y@ =y
X 4. T R IR o 3merm g I ey

Q.28 fmfafEa ared $t vamyde ue 31 area ¥ Sifei a7 H vgam # g ar fo
YeRR A | U3 &1 gl ge
Ans X 1. TR AR o US T <&l g2 T &
2. IeeR AR H U P <@l ge MY
o 3. TR WRA I U Pl <&t ge TE|
X 4. UceR ARA A U BT eEA geT B

Q.29 “IfIqR P Wt BTN Y UrsATAT ¥ 3UfRIa & F foig wer A |7 590 are ¥ fopam wat g
ygama ffefEa ¥ ¥ gz e g -
Ans X 1. 3fIaR BT it BT B AT H 39 & & AT pEer e |
X 2. ATIR BT T BT BT UTSATAT H 3T g &b AT STHBRY el |
X 3. fdaR B I BT BT UTSLATT F IUFRIT g BT FIAT Yed Y |
o 4. TR B DR T P e IufR T ¥ oy Bl |
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Q.30 fifefea ¥ & Ffeqef aw o1 aw7 -

Ans

X 1. 37t e F et @i

X 2. TRLI U WRT fobeg e St 8

o 3. Tafe ¥ 3¥e detrfaar fmd T
X 4. TpA ggd ITei WTT 8]

Q.31 wiifd Hi gfe & Yz arwm -

Ans

X 1. RO @t €1
X 2. grRISgErdt gl
X 3. grert s w81
o 4 R o e &1

Q.32 3wy 712 7 1S TIET e’ 1 wE 3 § -

Ans

o 1. o g B omier 7 g
X 2. IRaR &1 @AfaT

# 3. UTelq SR

x4 Tz fo

Q.33 g7 q THaad & Yg B Bl UgAH N2

Ans

x 1. BT
F R
o 3. faf
X 4.af

Q.34 yesqed g agaa W FYT 81 aTeT AR B -

Ans

X 1. s
X 2.9
3. 0@
K 4.2

Q.35 o it wew Al Sar &, T 3 wfonifRia giar & are & e oreg F adHt gfegef -

Ans

PG
AL

* 3. wfafea
o 4. fad

Q.36 yftwrorare feranfaeor B gfee § S-a1 arwr g 82

Ans

K 1. 379 geve ag ugH

XK 2. I TET AL 3T AT &Ml
o 3. 3779 ST a1 FaRTd &

X 4. AT H-a AR R 3T B

Q.37 Tporara ot Hi gfee ¥ 3155 area -

Ans

o 1. T ATCH BT 37 e
* 2. e fEear o 3mm

X 3. T et =l T

X 4. T BHTCT STec) TieT BT B
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Q.38 fIBig’ &1 Iugw vaiaar g -
Ans X1 7%

« 2. o

* 3. ToEHA

w4 T

Q.39 ‘3R qREAT HETaR T 342 §-
Ans x4 g=gf g
X 2.agag@a
o 3. PE YU
4. AT AT

Q.40 Hwar &1 FaiET 21 BN-
Ans X 1.9%

o 2. T

F ARG

+ 4 TR

Q.41 YR ¥ 3T & a1E At A, 3fd g8 81 R e & fAg g adt 21z 1 o Fiferg

Ans 1 sifEfTe
X 2. 3Enfie
X 3. 3Eniie
* 4. 3MENfis

Q.42 fymfafEa ¥ A e araa ¥ graaras fwor wramdt srgfE &2

Ans X 1. ggl At el Y gt iiew @ &, Y e
® 2. g% A g AR
o 3. W fSia feemef €, ot s 8
X 4. 98 @ Bad e Hm €|

Q.43 “ggr &1 wafgar 2= 3-
Ans )( 1. i

* 2. fRarax

& 3. 3R

v N

Q.44 fmfeifEa ¥ & aga= & Wit arw -
Ans X 1.3 TSP AHERR

K 2. 98 TSI Sl el B

o 3. T s IS WA

X 4. U TSP R AT R

Q.45 "3TETARY g€ AT & $9 UG TR BT UG B T  PH-A1 87
Ans X' 1. TTHRY g2 TR

X 2. 3TEARY g2 T Tl

o 3. IR g T R

X 4. AR ¢ 1A B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247]

GETIT ON
Google Play

Q.46 fimfaifEa ¥ ¥ e qera F1 31ef "mem Fwr §2
Ans X' 1. q7 ST

& 2. ATP1 T FgamT

X 3. AT srear

X 4. gAY ST

Q.47 fe g arera ¥ Ffe wga 3R 3 S B A W fawea g
3 et o BNt

Ans 1. 3TTH BTeT FaBT BN
o 2. JTTTH o et B111TI
X 3. 3MTHI et S BT
K 4. 3T B da @it

Q.48 gfewnr Y 3 J g area 8-
Ans X' 1. UE BIC BRI &

X 2. TE B BB

o 3. TEBIAFRI 2

X 4. TEBRIBR B

Q.49 frwfeifea ¥ & agaem & Fefta ame 2-
Ans X' 1. g g Bl YT

2. < 7 g9 2R wEm|

X 3. AEd

X 4., I T S

Q.50 fAmfafEa ¥ J fw area & o wwem sryfE 82
Ans X' 1. s7eTfOesT S ¥ et 7 |

X 2. ATaT-fodT Har o fad ared ¢

o« 3. I8 St 9ga AT ]

X 4. AeHtaTS T IR off|

Q.51 frafafad fasea § ¥ U &1 ater gara? o1 ref w32
Ans X' 1. $ATCER Afd

* 2. erfacrenet safar

o 3. g Afed

K 4. faeawfa afamy

Q.52 1 @ e BT fAwferfEd ¥ J fobw gerer o1 wd 3ref & -
Ans 1_a§fﬁa—ﬂ

o 2. T BT

7 3. BUR BreAT

X 4. e BT

Q.53 qra@r ¥ forg 3uge vafaart o -
Ans 1 guf

* 2. fagm

X 3.

X4 TH
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Q.54 g Y gfe F gz ara -

Ans X' 1. 37T HHH I &
X 2. 37TUHY HBE g7 B
& 3. 37TUF HHM I &1

o 4. 3TTIHT HH G987 8

Q.55 fiafafEd gerR # wryds ue 31k sumer fismel ¥ & 3faa sief aret faee o1 gama &3
T ST BT
Ans x 1_2;1:@113131
o 2. T BT
X 3.3

X 4. @

Q.56 fawfoifem ¥ & agae ¥ Wit arw 3
Ans X' 1. T g dfea e faar?

X 2. BR BT T ufEdT we T

X 3. Tg ufgan fodr wgm 8

o 4. ST PR & T 1fed W9 2

Q.57 HyeH BRE Hi G F B-A1 a1 Y TE 82
Ans X 1.3 & fag o wmai

X 2.7 37 A Y gRaes A

X 3. AR fAmfor & awa it qE

o 4. 17 fRfsarer # ara &1 <@

Q.58 fAmfafEa ¥ | Tepasd 3 Weiftd are -
Ans o 1. HEP R BIE YA W€

2. 080 A g 3 €1

X 3. PR F A IR W Bl

X 4,87 Y HUS A A

Q.59 fSr Wel-gq¥ &1 FH 7 8 arerrier & foig 37 § Wét oreg /872
Ans X 1. yarit

* 2. @

oF 3. 3@

* 4. et

Q.60 fmfafEa area HY vargde ue 3R araw ¥ wemarads fiar frwor ddt 3 H vgam w2 g

TqaTae firar fadreor arry |

3T A W A
Ans X 1. 37qT et & &I
o 2. 37aT U ¥ AT 2
< 3. 37T Wet et B
X 4. 3T W TE 8 R
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Q.61 T2l R HHATIAR & Teral § 30 ¥ P 9aATd T&l Bear ‘a8 a TP BT ¥ | R
T2 P gfF 3 2reg gRT BT |

Ans X' 1. IR
o 2. BHR
3. TaBT
x 4.3

Q.62 Hfcraraes franfaduor H gfe I P-a1 are Yz 32
Ans 1. 39 ggd YRR g &

X 2. 9 220 < qTER STHT 3787 oihell & |

7K 3. 3T TS AR QTS AT B

K 4. e P IR IR

Q.63 fawfeifed & & foowr vaparey ¥ gfeeim wamdt syfg & 2
Ans g1 fof i g

X 2. S0 @ ST 8

X 3. T I 8

X 4 ERdEm Ry

Q.64 fimfefEa gerat & 3f sref &1 oo Fifo-
AT fERISY 31T YebET

Ans X 1. {3t J 91d T BAT
X 2. ®E I oM
X 3. 3AT WIS AT
o 4. areff 8T

Q.65 YaaT 2eg Pl gfee A B AT a1 g 32

Ans X 1. “TITUT — 9ATH Y 3T WTOT B BIE T AE B
o 2. e — g ) e it o |
3. ‘BIer — T Bl B W EI IS MY
K 4. 0T — 37eTee o faE B Heg T8 FRal

Comprehension:

TETRN & TR W 7R P I &l

Y AT Y T T BT BT UIRT BT I AT AT T R Rl 9§ $ear w2 € Qe It
AT 2ft| $aR T X | W Y e dcd & 31K $2aR T Sfia & |1l I &1 & Wy & HebaT | T8
TN T BT Y e &1 S BIAURT P Bl ¥ Jent el &1 3 Jamery pret B et
T eft oR T TE B1 T MR B HTST srafer 81 5T <rer 3R drorE B BTy g3 §1 gHer
B g7 HT 3 URT & el 7 g St & Hefeia P el €1 Tea-Hed # 7 Usax 57 BobR Hiadi 7
iHferes U o HTem & €eadta U T qufd foRa 81 $ear Y A1 AT AT ] 3R T Ucdies mem §
PIE TASTHAR et ASTHART BT AT B & ey AT el BT AT el &, fafoy et § R
BT & 3R TG ST W1 B TS R Gl 81 7 Bfad) § Afcis RIgHE ST Wqe 81 STt a7
TR FETHTe & St I TS 9T €1 35 Bfaat ¥ wge € Her, $ge 3R 3@

SubQuestion No : 66
Q.66 FyoRfar werier ¥ @ed e A 39 FAT WAL §?
Ans o 1. fRTY He
X 2. 9T -
K 3. T AT
X 4. e g
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Comprehension:

TETN & TR W 7R BT IR &I

bT BTl T SH HHY bl BT HRT bl U I HIAT 7T & aiifep WA I $2&7 UTG Bl & VT 37T
HIT &t | $2aR &1 R F U M Fef dcdr & 3R $2eR BT STl b HIel U BT & HaH & Hebell 81 T8
3BT TN BT et e €1 T BIURT b Bt F Jemenss feref €1 3 Yrmmemg BRfy B refaay
W el TR YT TS 1 ST MRATHT BT HTST 3@fer 81 §TH arel AR AToTE Bl BT FANT g3 ¥ GHAHH
B1l gU S URT 3 i 7 fEg Sfiad & weifard weg foreft €1 weT-reT # 7 uga 379 BebR wfaal 1
Miferes W & AT F €2asty U & 9uid foar 81 $eaR T A1 AT AT # 3R T Tie mem #
PIE ISTHAR et ITGHRY BT AT ¥ o foig AT Pt T AT ava &, fafdyr swatdtar § ur
BT & 31 T ST W1 B TS &R Tl 81 7 bfad) § Afces RIgHE ST WHe 21 STt &7
JEITa eI 5 Sl T Hd9ts o1 €1 370 Biad | W &- #eM, $gad 3R 3HH|

SubQuestion No : 67
Q.67 JYH Frea ¥ $2aR Y b wu F @M 2
Ans X 1. ¥d
X 2. BhR
o 3. 9fFer
* 4.0

Comprehension:

TETRN & TR W 7T BT I &I

T AT Y T T BT BT UIRT BT I AT AT T # e 9 § $ear W B € Ot 3t
HIRIAT &ft | $2a) Y R | H M T dcd @ 31K $2aR BT Siia o |1l UH BT & e & FbT 81 T8
TN T BT Y e &1 S BIAURT & Bl ¥ Jent el &1 3 Dareny pret B weAfat
T QAT IR ¥ T B 57 MR Y HTST srafer €1 T arer 3R =TS Bl w1y g3 81 Yo
B §Y HT 3 URT & Bl 7 g Stiad & Hefeia P el €1 Ted-Hed # 7 UsaR 57 BobR Hiadi 7
iHferes U o HTeAm A €eater U T qufd fIRar 81 $eaR Y AT AT AT & 3R U Ucdies mem §
PIE TSTHAR et ASTHART BT AT BXA & ey AT et BT AT el &, fafoe Satdal § R
BT & 3R TG ST W1 B TS B Gl 81 ST Bfad) § Afcip RIgHE ST W@ 8| STt a7
JEITAd HeThTed 5 Qielt & TS @ 81 377 Bfadl § Y ¢ He, e 3R IHHI

SubQuestion No : 68
Q.68 Terier & 3R o5 YHI AETHIA BT HHAS RAF E 2
Ans X 1. Tt
X 2. WyATed
o 3. UaTad

X 4. ARE

Comprehension:

eI & TR W FRA &1 I &I

bT BTl T SH HHY bl BTe HIRT bl UH I HIAT 7T € Rifch WA I $2&% UTW Bl & VT 37!
HIRTAT &Y | $2a) Y R F I Y el dcd & 37K $2aR &1 St 3 |1 U T & He B FobelT Bl I8
I T BT e 1 S BITURT & Hfaat § Jment el &1 3 Jemmend wrat B wafiar
Y et wR vt TE F1 T MR B HTST srafer 21 g <rer 3R AT B T g g3 ¥ 1 g
B gU T 5 U1 o il 3 feg Sfiem I Helferd e ot €1 Ws-He § 7 user 57 BebR pfadl 3
Mifes I % ATea ¥ $2ad1 UH T qUTT Tt €1 $2aR T WIS HIAT T & 3R UT: T e #
PIE ISTHAR et ASTGHHRY BT AT ¥ & foig AT et ot AT gt €, fafdy satdar & ur
BIT & 31 T STy W1 BT TS B ebdl 8| 7 Biad! § Hicid RIEHG ST WHE 8| ST &7
TR HETHT 5 et I Adds AT §1 357 Biaal ¥ vqE € Her, P 3R 3w

SubQuestion No : 69
Q.69 JhHt Frea Afger ¥ 5 wpr A A7ea 3R ek & vy o qifar mar € 2
Ans X 1. War 37k O
* 2. 3R YA
X 3. BHR AR I
F 4. 9 3R U
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Comprehension:

TETN & TR W 7R BT I &I

Y Bferat BY 5T TG BY Bred URT BT U A HAT AT Riife U A $oaR U1 BN & Ot 3
AT &t | $2aR &1 R A U Mt Fef dcdr & 3R $2eR BT STl b HIel U BT & HaH &l Hebell &1 T8
37T TN BT et e €1 T BIAURT b Bt § Femenss feref €1 3 Yammemg BrfY B sty
T QAT TR YT TS 1 T MRATHT BT HTST 3@fer 81 0 arel AR AToTE Bl BT FANT I ¥ GHAAHA
B1d gY W 5 UIRT & Wil 7 fég Sia & weferd wend ot €1 weA-red ¥ 7 uga 37 ek dfedl 4
Miferes W & WTeAm F €2aste U & 9uid fa 81 $eaR T A1 AT AT # 3R U Teies mem H
PIE IASTHAR et ATGHRY BT AT B¥ P foig AT et o7 [T o &, fafdy swatdar § or
BT & 31 T ST WIRE BT TS &R Febdl 81 7 dbfad) § Hfcids AIgHE ST WHE 21 ST &1
JETTa HeThTed &9 Qi T HI9ts o1 €1 370 Biad § W &- HeM, Tgad 3R IHH|

SubQuestion No : 70

Q.70 gt 2reg @ 37ef?
Ans  p 1. T R Pell g3
X 2. gt e gam
X 3. ST W AT g
X 4. P fafere awg
Comprehension:
TS G 2T {3 ol T gulT TeT3il gal el &T feam ST a1 dRfOTes et § AT 100 gAY
T IR AT a1 2, fobg axctmm s o ag rfremT 8 7T &1 RS FEd - FeT uRar
gl URaR | 379 BEd ¢- Brer URAR Gl uRaR | RIS ¥ STel sgd o gaer 2, 79 7 312w B
Wt qufd: gae fam &1 uee 3ifee SHeiear o < U | {oTaT ST 27| 377 d8t seIfaRT
9 21 3T IR WAR § St gig dr 3fR 3 T ST 1

SubQuestion No : 71

Q.71 feaw T B gfel & forg Wt 2ree/ e o1 = AR
e i 21 fs ol b gut TeTsit yal el & fecam <mar am
Ans X 1. REH
o 2. 3meffafe
X 3. arfiemy
X 4. o
Comprehension:
TS G 2T {3 Toral T gulT TeT3il gal el T feam STl a1 Ao et AT 100 gAY
T IR AT a1 2, fobg actrm wwa o @ Jf9emd € AT 1 UEe Ped - g8T YRR
gl URaR | 379 BEd - Brel URAR Gl uRaR | RIS ¥ STel gd o gaen 2, a9 0 312w B
Wt quia: g&e e €1 uget s1feies STier 3t < BT W i STTaT &T| 37T a8t SRifaRd
g1 7TE €| 379 IR FAR ¥ S gig B 3R & <@ Siar 2|

SubQuestion No : 72

Q.72 e 2o Y Yfd F forg I 2ree/ e o1 7aq F1

Ans

RO w3t & aY 100 Yo &1 ave Arget arg oft, feg adnm s i ag _ sifijeny
Amrdi

ek
X 2. 3mefy
* 3. 3mefdaa

o 4. T
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Comprehension:

e T T o BRI Y ‘gull FET3N Yal el BT feam STraT i dRifotes it # dt 100 gAY

T IRGH AT a1d 2ft, fobg acam wma o g 7T 81 AT €1 TEe Ped - 981 URaAR

gt uRaR | 379 Bed & Brer uRaR Gt uRaR | aRREIET ¥ <7l dgd o gaetl &, ad 5 12 B

Wt qufd: Tee f&am 31 uget 3ifees ST o & BT W o ST 2Tl 37T g€t SRIfaRT
9 7TE &1 3T IR TR § TGS g Y S I & a2l

SubQuestion No : 73

Q.73 R v Y gfd & forg WY 2rea/faeed &1 wg |
Ug G SRR B % wu W forar S am
Ans 1 SRl
2. dred
* 3. enifaT
& 4. Tebar
Comprehension:
e T T o BRI Y ‘gull FET3N YAt el BT feam STrar e dRifotes ettt # d 100 gAY
T IREH AT a1 2, fobg A wma o g 372 81 T 1 Ut Ped &- F81 URaR
gt uRaR | 379 Bed & Brer URaR Gt uRaR | aRRETIET ¥ Tl dgd o gaell &, ad 5 12 B
Wt qofa: aeet far 81 weet sifies Seie @ % B H T ST &AT1 37757 J8t sRIfaRt
9 TE &1 3T IR TR § SHEEAT Gig Y S I < Sfrar 2|

SubQuestion No : 74

Q.74 R v Y gfd & forg W 2rea/faered &1 7@ |
3Tt g Al FATE R
Ans 1 3rfiemg
K 2. ®eH
~ 3. FHadr
X 4. 3mefafe
Comprehension:
e G T {3 ol oY g T gdt e T far Srar aml aiifotes eamsit # d 100 g
T IREH AT a1 2ff, fobg A wma o g 1Y 81 7T 81 Ut Ped &- F81 URaR
gt aRaR | 379 Bed & Brer URAR Gt uRaR | aRRETIET ¥ STl 9gd o Taetl &, ad 5 12 BT
Y qofa: aeet far 81 weet sifies Sei @ % B H foaT ST &AT| 37757 a8t sRifaRT
9 TE &1 3G IR TR § TGS g Y S I & e 8|

Q.75

Ans

SubQuestion No : 75
e v Y gfef & forg Wt eree/ e @1 wram #¥)
39 IR GAR & T i B g ¥ & et §1
X 1. 38t
w233
Kagh
4.

Q.76
Ans

gfgsidt T 7 arfielt ¥ J e o et gerit te a1t o1 waifie suge w9 3
K. g 57 el W O gfgtielt ST AT 21 3 fier
X 2. TSIt AT &7 3rdial # o gereht Uep gfgstdt I fier
o 3. gl U gfgstidt I e fSraest 91 g ardial & o7
& 4.7 3yttt # forepT gorelt Oep ggirdt A & i e
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Q.77 frafafEe faseal ¥ I v araaier-gm g 87
Ans X 1. S 3G g Bt

* 2. Ry A Y Q- ¥wifea

o 3. 95 & Forad st €f-srer

K 4. S Bt T % ol 3 7 @-3mrgfie

Q.78 fig ¢ g & ¥@ifha 2 B 3fera fabed J ufkafda w8

sfter oft, kT 3mR2r & fa 39 FArd T ¥ 3raey 3l
Ans 1 grefAT
X 2. fer
& 3.
o 4. e

Q.79 fimfafEd arewil § ¥ 3 wg-w a1t araa Hi ugaE -
Ans X 1. T et g 39 AT @ ot o Mo o W
o 2. T 39 T T il @it for o) o1 fora o
X 3. g Mo foa &1 55 o) Y el 39 s o
7 4. 39 fiwTs @1 ot Eiel g o forr o o

Q.80 ¥ FHET Y aTa A N 31T TS AT BT Faffeie IUGT W o farehed & §-
Ans o 1. TRA B ard A TS F 37 T

X 2. 78 a1a B FHe TR § 3 TE

K 3. 9 TR P a1a THET F 3 E

X 4. TR B IR et ar ¥ 3

Q.81 “WRa ¥ 3ifda & 2MPI F Ty faepwTieer eadii TauiterY ¥ o1 AT » 3R aTeRy &1 e
EL ke
Ans o 1. RA F TGN MBI H T AT o1 AT woTfert § sifdd
7 2. 2Pt H I faepATerd MR b [wiait T AT 3ifdd € woTiert §
X 3. Ra & a2 Qe H BT ATH WuTiER] H 3ifehd & S fashTiacy
X 4. T faseATiee 3ifehd @ MRA & Tradeftar et ¥ @ AT waurfer §

Q.82 (1) 3rq et ureHY & Y & 3T A

() Tfes SEhY YferaTiRics TMRAT 318{00T 7@

(@) “AgeBiar IU—ATT PT AfIPBTA B TGd R 38 &1

(m) fereit fipeit 3rgane &1 ufafda gree T&l1

() 3R 7€ N 7 g 310 qerHy ¥ G,

(6) 31T g 59D 3 wu A 3 o &, SRy 7g am

TR a1 P 3T FATHR Hafed 2 FE fese g
Ans X 1. %, °H, T, @

K 2.9,9®,T

X3u®dma

o 4.9, 5,9, T

Q.83 gy arwr F Ywifha 2 # 3 fe I ufafda &
TSt ¥ q agd §:H §HT, A W Aig Y 3w
Ans X 1. Tier
* 2. 39
X 3. aer
o 4P
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Q.84 Wy a1y a1 el W a€ TE) AT Ffeifed fased) ¥ A 59 g & oy @i 91 vs 3fa
TR aTRT ENM?

Ans X' 1 SAAT e J TE 3|
® 2. g Y @ e 3|
X 3. 3a T B W el 3|
o 4. AT FE R g TE 3|

Q.85 g Mg arew ¥ 2reg AT T WUs P gafeg | WE fiwed g

I ATATRY § 37t it ot
Ans 1. 3P TR € ITH Yt ot
X 2. 3 R T A o e
X 3. e T T G
K 4. TGP AT € FHBT Yot 2|

Comprehension:

Tl P THR TR HA BT IR &

SH AR # U E 09 $B TE 81 YT BT Yol Igd BH STTel H el et TE B AR BT SfaE JoTa
AT 3R IATERT Go-ggap T AT, Y MY AT &Y ST fas ForaehY g 3umT e &, e
AR TS BRA &, 381 SUAT BHI W AT AHY TE! feiefra o, e 32 o V8 v g & fomet
TEdT 1 ST I 31t Feaar THerd €1 TS @i & Sfiae o7 3897 Paet ST JeRAT 2, 376! Hfawst
PH S 8| JAepir 3TaRemall 37 At 3 qBT deb el | I=I S foidT, ST BHTAT 3R Wetleb bl
AT Y1 et A ST deb 7Y fob & b1 & 31K el M| Wia wHTST wTelf 3oy 7, W ag wref Bt
ST AT T S| 370 H € YT ST 8, SRR 31 St 1 317 st wH e Ay
ufiera e €1

SubQuestion No : 86
Q.86 v Y guir F T 1fnT 8 31 T Ag 59 i T 2fie B Wepar 82
Ans X 1. TRells GURA ¥ 7Y T3PS et
X 2. 3T A § o e /AE
X 3. RS AT § @ IeA1/RM e bl SRove Te !
oF 4. T B F @ EAIET

Comprehension:

TETN & TR W 7T PT I &l

S SR § U € 99 B TEl €1 T bl Yol al g BH STl H et <l T 81 HAR BT $fier 38TaR
BT 3R I2TER0T Ge-geehx AT I(ET, a1 3TUh! HTed &1 STTQT {3 S g1 IURAT 9 &, S
AR TS R &, I SUIT FHA B 39T FH 7] [Garam o, 9fcs 3217 o U 3 5 & St
T &9 SU I U Feaar A 1 S T 3 Sitae T 3823 dact $udT GSRAT 2, 6T HfdeT
A gS B 3rferepier srawemaii 3% Ot 1 gt de Tel | 3= 5 fora, Ut BHTT 3R e Td B
T Y1 feBft ¥ STAT dep €T %5 & I & 3R el Tg1 A FATST werelf 31qed 8, W g w@ref Hr
JUTHAT BRAT €T SIAT| 37 H & 8 Yo 511l &, Sme 310 St &l 31fda et J7a el Hgsaed o
gftag e i

SubQuestion No : 87
Q.87 W HAR ¥ 7T Wd $© TE &2
Ans F. 1. 73
o 2.4
X 3. R e

# 4. gErsT
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Q.88

Comprehension:

TN P TUR TR WA BT IR &

S FAR N U € G 8 TE &1 U B YoT o agd H STl ¥ 2t &t 7 €1 W & e sorew
2B 31 TAEROT Eo- 3R AT AGT, Al AN ATH &1 ST 35 SFAHT 8 SURFAT 4 &, Foreh
AR TS B &, I SUAT HAM ¥ AT F7G TE! [ 2T, Ifces 381 B Q& B 5 & et
TET &1 $UY I 37eie Hearar THerd €1 TS @ & Sfiae o7 3897 aet $9aT FeRAT 7, 376! Hfasst
BH g &1 Aferpier srawensll # 3 fobelt 7 BT ae 7ET| 3 S forar, Suam wHTar 3R Wl Bl
AT B ot Y ST b TE 35 4 Y & 34l el 1 Wi WSt W@eff 3raed &, W ag waref
SUTEAT AT T8 STAaT| 37d # 3 & o1 o1 2, o 310 St Y 311 o e el A o
i e €1

SubQuestion No : 88
HAR ¥ o UPR & T P e gt 82
X . S TS BTt § 31fod $Ud P Hedd gHeNd T8
X 2. SR 9398 RS sa1g
X 3. S $uar Ham W O 39 faarg
o 4. S a1 HHM B 57T FHS F ol F6 fbar

Q.89

Comprehension:

TErfer & TR W HA BT IR &

T TR W U & 99 O T&l 81 U BT YOl aY g BH STl H Nt Sl T 21 HAR BT 3fTer 3TN
&Y 3R ITEROT §o-gehx ATH AT, AY 3TTRY ATeTH &Y ST {5 fSHehY §H 3UTT v €, forp
Q&9 31T 9B deb BT dUR T8 €, foeh! Wfd aRdTol I & faY 87 3Me aXE & TR g
TGN TS B &, I ST FAM H 3797 F7g T fTamam o, Ifces 381 o & & 5 & et
WEdT 81 S0 I 37t FeaaT THed ¢ | TS @i & ST &7 3897 Paet $9dT SeRAT 8, 370! Hfawst
A g B 3rferater srawemait § 37 Ot ¥ gt e TEl | 3= 5 fora, $uaT BHTT 3R wReld B
T Bl feblt 3 ST deb €T b & b1 & 39K el Y1 Hia FHTST @relf 379 §, W ag w@ref &
SURAT BT 8] STaT| 35d 7 3 & el ST €, i 310 St @ 317 avd T el Ao T
fiera fear 1

SubQuestion No : 89
g 9T & Y AT HATST W & A SR TR IP SUTHAT TG Py Swei?
o 1. el 37aeT 2 IR Taef ol IURAT 78 dXar
2. TRl 37y § W’ uRArel ¥ A8 @ Tem
X 3. U7 BT 3T ¢ 3R U Bl IURET W B T T
X 4. fameff sraed & MR vedr T

Q.90
Ans

Comprehension:

TN T TUR W HT BT 3 &

S TR N U € G B TE &1 U B YoT o agd H el F 2t et E 1 IR 1 gfder Sorw
BT 3R ITRT g-goh AT I(ET, dY 3TUP! Aied € SITQT {3 fSHST g1 3TRAT 9 &, s
AR TS B &, IBI SUIT HAM W AT HHY Te! [ard 2T, Ifcep 381 o Y P 60 & foiehr
TET &1 S0 I 31t Feaar wHerd €1 TS @i & Sfiae o7 3897 Faet $udT SeRAT 8, 376! Hfawst
PBH §S 81 ATEBIRr RT3 H 37 el ¥ YBT b Tel | 381 o fora, ST BHTIT AR R b
T Y| Tt A ST dep el o & b1 & 3iR el TQ 1 Wi FHTST el 37907 €, W ag wref Y
ST BT T8 STaT| 35d # 4 & et o €, IR 310 Sfta B 311 avd T e Ay o
Ty fear

SubQuestion No : 90
forrhY wfaree o g 2 3ik fobw BRvT A g7
X 1. ol wm qafe faar
o 2. 1 A T qIRA H o 37
X 3. 5=l 3B 318 & fd
KA STERIWRE
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Q.91

Comprehension:
eI & TR W 7R BT I &I
e 57 W Q[T BHRT ST 1SR & 3R FsaT §AR GT-giT=R 3 TaRd e § 1fofa
3 e et & & 31 g ot & fov, Aot smeef 3 forg 3R e wremsit & fovg woT <Y
TSI AN T8 &1 ST g VAT B b1 QIfered QI &Y 78 STt ael 81 Yeb fea ni & e U[aT &l 3R
wite T & e qet uge o g 7 et wissH Y saeawdr & 3R T AT B T 370 R B
e Brea farTera 3 foIeR I UTdTel B TS deb et & ggda dot 31T Fahat &1 TR 3 Haré &
TEH 37eff e UgT  gAN Uia BIo T, T oot enit 3R 377 3 A 3FRT BT S
SubQuestion No : 91
el Y w vfaw T 3R # -

X1 faeBr ow &1 Adte & fos g7 77 9 U 97 T 2

& 2. -IiaR Bl ATEAT F 7T 9T I HW 36 I AT P 10T U7 & T &

X 3. AZSIAT A3 1 Heel AR B

X 4.5 F 9 AR AT W PSR el

Q.92

Comprehension:

TRl & TR TR HeT BT IR &

e 57 W Q[T BHRT ST 31TER 2 3R HgwaT 8HR G-giT<iR & 3TaRd e 3 31fsfa
3 e S & & 31 g Taet o fore, arerRgut smesf & oy 3R 3erd wremnsit & farg g
TSI TG T8 &1 ST §HW QT B bl AfeRed I 7T I8 STl del g4 Yeb fHea Ry & el TR[dT &l 31
offe TIetd & e Tt Tga & forg 7 el wRishH By arraRaehdr & 3 7 AT B & 3 e’k By
e Brea fRmTerT & fRIER & UTaTeT 1 TevTE qeb Teot & e Tet 311 Aol &1 TR 39 HaTE F
g 37eiY e Uge § AR UTq BT T, W Gy ennit 3R 3t 3 A 3R B Se
SubQuestion No : 92

JeR TR BT 3R T E -

X 1. WSIAT udT ¥ dee Bl

X 2. 31T T 3R ST 3T BT 3R S H A B

X 3. WIS, A bl A AT BT Helleb &1

o 4. T B AT 3 a8 TRYAT B e Blga AT & Y F A B

Comprehension:

Tl & TR TR YT BT 3R <

ferepTer S5 W Q[T BT S AGG 1SR & 3R FwaT gAR G-giT=iR 3 FTeRd ey § 1fofa
3 fAfe | et & & 3719 yd w9 o folg, Areraguf 3meef & fay 3R 3 wremsi & fog wor Y
TS T Y8 &1 STa gAH VT B bl 2AfeRey 21 el 38 STt ad 8H Yeb e ani & Arel aefaT &l 3R
oife Tetd & e i uge & foig 7 el wRishH Y 3rravaehar € 3R 7 ATe Bl gH 3o e’k By
frede BTse femTera 3 o 3 ITdTer BY TewT 0 HeoT € gedhd O 3 Wk §1 g 3 FaE &
TEH 37ff e Uga  gAR Uia BIo oI, TR Gor onnit 3R 377 3 A 3RRT BT S

SubQuestion No : 93

Q.93 il T Juge 2ftefes v -

Ans

2 1. ORIET BT wfe

X 2. AG SHaq BT HEd

X 3. WIS &1 5 g AfIeR
o 4. AFSIT B e
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Q.94

Comprehension:
TETN & TR W R BT I &I
e 57 W T[T BT ST AGg 1SR 2 3R HsaT §AR G-giT=R 3 TaRd e § 1fSfd
3 e et & & 31 g ot & fov, Aot smeef 3 o 3R e wreAsit & forg woT <Y
TSI AT T8 &1 ST g VAT B bl Afered QI 78T 78 STTdl ael 81 Yeb fiea ni & el U[dT &l 31
oife Tetd & e gl uge & g 7 el wRishH BT 3rravaehar € 3R 7 AT B g 3o e’ By
Fred Blga fRATaa 3 fRIER A dTeTet B TeXTE e el & qodhd Tt 31T Feohd &1 W 39 HaTé &
gl 30l dep Uger § §HR UTd IO e, Wi Gery ennit 3R 3iTait % A R B Se
SubQuestion No : 94
e & 3ifew areRr I 3mer § -

K 1. TS I 3T & 3T 3R BT ST 8

o 2. AT BT 315 fGHTerd W T ST oA 21

X 3. ATSIAT T A & oY 7y & W Aed g =nfev

X 4. AFIaT § fdd 21T TdTet ¥ TR SHET S 2

Q.95

Comprehension:
T2l & TR TR HeT BT IR &
e 257 W T[T BHRT GG 31EeR 2 3R "gwar 8 G-giT=iR 3 31TaRd e 3 31fefa
3 e S & & 31 o Tae o fore, arerRigot smesf & oy 3R 3ard wremnsit & farg g
qTST TG T8 &1 ST §HW QT B bl Afered QI 7&T I8 STl del g1 Yeb fHea Ry & el TR[dT &l 31k
offe Tetd & e Tt Tga & g 7 el wRishw Y arraRaehar & 3 7 AT B & 3 e’k By
e Brea fRHTerT & fRIER ¥ UTaTeT 1 TevTE qe Heol & e Tet 311 Aol &1 TR 39 HaTE F
e 37T e Uge § AR UTq BT T, Wi Gy ennit 3R 3t 3 A 3R B Se
SubQuestion No : 95
IS TRAT Y 3R B9 Flear 7

X 1. 519 98 W L@ gl

o 2. 79 TE SHiae H ATHORR Y TATHAT & T T 8IS &l €1

X 3. 59 g frrear & I Ha &1 STIaT 8l

X 4. 59 9 HIAAT § g @) STl 2l

Comprehension:
TRl & TR W Y27 BT IR & —

AT BT U P HHA 377 T TBR b U YW b G @3 §1 7S b U 31 TP b U 8 Hebd
& G 35 B ¥, ¥R 1 AT 5w # a7 Ry 35 4, wg o7 & ARl f TR
Y AR Y T G G Tl 7 Faeh, fI U F e Y 9T e W e 7€ @, afcs
3TfErepTIEres UTed R T ATCHAT 3= Bt &1 Teet 7 it Wt wigee el ear €, @rerar 3iR wraAr
Y TEAT37 % BT AT HeT 3R Vel € 3R Heies g &l a1 IR ¥@e Terd 1 e H Y 78
Rafdarar| Wy IS B U AT B o R T BT 34 B GPR & U B BT T8 el oI
FATT 37 AT &, A AR ST 3R T T AT € ST €1 Yt sent qem € ot &, fore 7 et
Bl & 7 8, 7 3dTS BT & 7 34erifd, T AN BT & 7 Arerd, Sfa o g, g, faRfEd & s &
R B ST 21

SubQuestion No : 96

Q.96 Jdy F i A 3y B-

Ans

o 1. TAY B U I I W JBR F U Td: Tmef 8 7d &
K 2. [ YT R o W BT AR A T @ S §

X 3. Fd F Sfe fFaRfEd vd 31e ga g ST 2

X 4. Far 377 ST & $af 3R g 3= T8l g
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Q.97

Comprehension:
TRl & TR W Y27 BT IR &I —

AT BT U P A 377 T TBR b U YW b G @3 §1 7S b U 30 TP b U 8 Hebd
- -Gl & w0 W, WiT-fRemy S amfial & o § a1 3 $ B, Wy e F i i R @
Y AN Y T G A6 Tl 7 Faeh, fI U F e Y 9T A W e 7€ @, afcs
HTAPIED UTeT PR BT AT 3= BXell &1 T i BHt i Tgee T8 gefm| €saf, Arera 3R wrer
Y TEAT37 6 PBROT AT HeT 3R YedT € 3R Heies g &l a1 IR ¥@eB Teid 1 e o Y 78
TRafarar| Wy JAT B U T B o R T BT 34 R GPR & A B BT TE el o1
FATT 37T E, A AR ST 3R T T T € ST €1 Yt sent qem g ot &, fore 7 $waf
BNt & 7 89, T A 81T € 7 310, T AN BT € 7 @rerd, Sted a9 g, dgwe, farfEd 8 s
WYY B AT 21

SubQuestion No : 97
et o1 faem fa ¥ 3 -
o 1. 78R
X 2. B
X 3. afRR
w4 3Ed

Q.98

Comprehension:
eI & TR W 7R BT IR & —

AT Bt U7 P HHA 377 T THR S U YW B G @ § 7SI b U 31 THR b ¥ 8 Hebd
& ga-gfaems & w0 N, Wi-Fem S amfiat s ¥ ar 3R $ B §, Wy e A i vt wemR @
Y R Y HedT G e Tl 7 T, fad B F v Y ure A W e T8 2, afcds
AT AT B¥ Y AT I gl &1 et 7 vt Y wgee 7Y 2ar| €, et 3R s
BT T3 < PBROT A Hal I ¥edT & 3R fde qeal Bl dieh IR W& Taad B B | 1 Tl
Tafdarar| Wy JAT B U T B o TR AL B 34 e TR & U Bl BT 6 et S
FATT T SITAT &, Y A GBI 3R 7T o AT B I ¥ QR et qem g St &, o 7 $saf
Bt & 7 89, T IRAT ST & 7 370, T AN BT & 7 wrerd, Sad a9 g, A, fHarfed & s
WRGY B STl &1

SubQuestion No : 98
Terier ¥ T YRR ‘dTeh W 3G &1 37ef 2nm-
o 1. 0 THHBR X BT
7 2. HeSl B Gl
X 3. 9gd HaTE WG LT
K 4. ST

Comprehension:
TRl & TR W Y27 BT IR &I —

AT Bt U B AT 31T T TBR b U Y b FA el €1 AT P U 3 TBR b U 8l [l
& ga-gfaursil & wu §, Wi-fem S amital & ¥ a1 48 6 w9 H, wg 37T 3§ e ger @t
Y AN Y AT G e Tl T Faep, I B F U B 9T A W e T @, afcs
TferepTEres ATed TR T ATCHAT 3= Bt 21 Tt 7 vt Wt wigee &l erarl €, arerar 3ik wrar
BT WTATHT P BROT AT HT IR e @ 3R Afciep Tl P dTeh W Wb eld B et it Tel
TRafaTar| Wy FAT B U T PR @ R T B 3 B TP & U B BT TE el ST
AT 3T ST 2, Y TR SBT3 AN e T B ST 21 O qent g2 g S €, o 7 S
Bt 8 7 &, T 3dTS 21T € 7 31201, T AN a1 € 7 oerd, SitaT 99 g, g, fAarfed g s &
WYY & SAaT 21

SubQuestion No : 99

Q.99 7Fa Y W Y AT ell &-

Ans

* 1. s v d

X 2.9 e S it &
X 3. ga-gfausi &

o 4. AT T
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Comprehension:
eIl P ATUR TR Y BT IR 1 —

AT BT U P HHA 377 T TBR &b U Ye b G @3 §1 7S &b U 31 TR b U 8 Hebd
2 gE-gfaursii & wu ¥, Wr-faera S amiiat F U H a7 U F B H, WY e 9 [ geR @
Y N Y AT G A6 Tl 7 Faehy, fId U F e Y 9T e W e 7€ @, afcs
TfErepTEres ATed R T ATCHAT 3= Bt &1 Tt 7 vt Wt wigee el earl €, @rerar 3iR wraAr
Y WTEATHT < BROT HI HT R e @ 3R Afciep el P a1 TR Wb TeAd B et o it Tel
TReafisaTdT| Wy TdTy Bt U AT R AN W AT B 34 B HBR & U B BT T et | o
FATT 37T &, A AR ST 3R T T AT € S €1 Yt sent qem € ot &, fore 7 $waf
Bl & 7 8, 7 3RdTT graT & 7 31erifed, T AN Qelr & 7 rerd, Sfta o g, g, faRfEq & s &
R & AT B

SubQuestion No : 100

Q.100 werier & forg 3wy 2fifas gnm-
Ans X 1 uAHTANM

X 2. TR Haw

3. Ay ¥ gafuRk

X 4. T F 3R

Section : General English

Q.1 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

The families in India / more money / on male children's education / than / on female
children / are ready to spend
Ans  # 1. The families In India are ready to spend more money on male children’s education

than on female children.

# 2. More money are ready to spend on female children than on male children’s education
the families in India.

# 3. The families in India on male children’s education than on female children are ready
to spend more money.

# 4. The families in India on female children are ready to spend more money than on male
children's education.

Q.2 Select the most appropriate option to fill in the blank.

He complained his weak eyes.
Ans X 1. without

«” 2. about

* 3. for
7 4. because

Q.3 Select the option that expresses the given sentence in passive voice.

The surgeons were operating on a defective heart in the operation theatre.
Ans X 1.Adefective heart has been operated by the surgeons in the operation theatre.
«” 2. A defective heart was being operated on by the surgeons in the operation theatre.
7 3. Adefective heart will have been operated by the surgeons in the operation theatre.

X 4. Adefective heart was operated by the surgeons in the operation theatre.

Q.4 Select the correct spelling of the word to fill in the blank in the given sentence.
Uttarakhand has faced many natural in recent years.
Ans 1. calamities
7 2. kalaimites
# 3. qalimities
7 4. clamities
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Q.5

Select the most appropriate idiom that can substitute the underlined words in the
following sentence.

The internal conflicts within the party were dismissed as an insignificant exaggeration.

# 1. the cherry on the cake
« 2. a storm in a teacup
# 3. rain cats and dogs

& 4. afrogin the well

Q.6

Select the option that expresses the given sentence in indirect speech.
Peter said, “I don’t like this bag.”

7 1. Peter said that he doesn't like that bag.

X 2. Peter said that he didn't like this bag.

«” 3. Peter said that he didn’t like that bag.

< 4. Peter said that | didn't like that bag.

Q7

Choose the option that rectifies the grammatical and/or spelling errors in the given
sentence.

In the huge yard, there was a loan pine tree in one corner but no other large plants to
speak of.

" 1. there was a lone pine tree
# 2. In the hudge yard
#5 3.in one cornar

7 4. but not other large plant to spoke of

Q.8

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

In the future, humans had colonise Mars / and establish a thriving civilisation / on the
red planet.

" 1. In the future, humans had colonise Mars
# 2. and establish a thriving civilisation

# 3. No error

# 4. on the red planet

Q.9

Select the most appropriate ANTONYM for the highlighted word.
The boss persists with his loyalists even now.

# 1. retinues
«# 2. discontinues
7 3. formulates

# 4. continues

Select the option that expresses the given sentence in active voice.
The batteries in the smoke detector have been changed.
7 1. Someone had changed the batteries in the smoke detector.
7 2. Someone has been changing the batteries in the smoke detector.
7 3. Someone changed the batteries in the smoke detector.

" 4. Someone has changed the batteries in the smoke detector.
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Q.1

o

Choose the correct meaning of the given idiom.
Beggar description

X 1. Dressing like a beggar
# 2. Possible to describe
# 3. Defying attempts

«” 4. Impossible to describe

Q.12

A sentence has been given in Passive voice. Select the option that best expresses the
same sentence in active voice.

The assignment will be submitted by the students to the teacher.
# 1. The assignment will submit the students to the teacher.
« 2. The students will submit the assignment to the teacher.
# 3. The teacher will submit the assignment to the students.

7 4. The students will be submitting the assignment to the teacher.

Q.13

Select the most appropriate ANTONYM for the highlighted word.
They bestow upon him whatever he wishes

*® 1. gift

# 2. intensify
7 3. classify
" 4. deny

Q.14

Select the most appropriate option to fill in the blank.
| cannot understand is how you could walk so far.

o 1. What
* 2. Which
X 3. When
# 4. How

In the following sentence, four words are underlined, out of which one word is
MISSPELT. Select the MISSPELT word.

The project aims to coordinate the efforts of millions of people who are aprehensive
about the impact of micro plastics on the oceans.

# 1. coordinate
«# 2. aprehensive
# 3. millions

2 4. impact

Q.16

Select the sentence with the grammatically correct verb form..
# 1.1go to Germany last summer.

X 2.1am going to Germany last summer.
# 3.1 have gone to Germany last summer.

" 4.1 went to Germany last summer.

Select the option that expresses the given sentence in passive voice.

A honeybee stung her in the apiary.
7 1. She stung a honeybee in the apiary.
" 2. She was stung by a honeybee in the apiary.
5 3. Ahoneybee got her stung in the apiary.

7 4. She stung herself by a honeybee in the apiary.
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Q.18

Ans

Select the option that expresses the given sentence in direct speech.

My philosophy teacher told me that happiness is to be in the state of harmony.
" 1. My philosophy teacher said to me, “Happiness is to be in the state of harmony.”
# 2. My philosophy teacher had told me, “Happiness is to be in the state of harmony.”
# 3. My philosophy teacher says to me, “Happiness is to be in the state of harmony.”

5 4. My philosophy teacher says, “Happiness is to be in the state of harmony.”

Q.19

Select the option that expresses the given sentence in active voice.

It is expected that the company will become profitable.
# 1. They were expecting that the company will become profitable.
5 2. They have been expecting that the company will become profitable.
«” 3. They expect that the company will become profitable.

7 4. They are expecting that the company will become profitable.

Q.20

Select the most appropriate meaning of the given idiom.

Last resort
# 1. Few choices that differ from other choices
4" 2. The only choice that remains after all others have been tried
4 3. The only choice that also fails after all others have been tried

7 4. The only choice that looks easy than other available choices

Q.21

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options.
The athlete ran /few impressively / than anyone else / in the race.

«” 1. few impressively
7 2.in the race.
# 3. The athlete ran

# 4. than anyone else

Q.22

Select the most appropriate meaning of the given idiom.

Call it a day
# 1. To work for a long time
# 2. To finish an unfinished work
«” 3. To stop working on something for the day

)( 4. To call someone on a particular day

Select the most appropriate meaning of the given idiom.

Beginner's luck

Ans " 1. To get unusual or unexpected success in one’s first attempt in doing something
# 2. To be successful all the time
# 3. To work hard to achieve success
7 4. To be lucky in achieving one’s goals.
Q.24 Select the most appropriate synonym of the given word.
Remind
Ans X 1. Strain
# 2. Charge
# 3. Leap

o 4. Recall



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247]

GETIT ON
Google Play

Q.25

Select the most appropriate meaning of the given idiom.
Cloak and dagger

Ans X 1. Suffer harm or damage because of conflict

# 2. Having a complaint that needs to be discussed

" 3. Asituations involving secrecy, spying and mystery

# 4. Saying or doing something that can lead to a serious fight or disagreement
Q.26 Select the option that expresses the given sentence in indirect speech.

The saint said to his followers, “Truth is rewarding.”

Ans X 1.The saint told his followers that truth has been rewarding
5 2. The saint said to his followers that truth had been rewarding.
# 3. The saint said to his followers that truth was rewarding.
" 4. The saint told his followers that truth is rewarding.
Q.27 Parts of the following sentence have been given as options. Select the option that

contains a grammatical error.

The scientists have concluded that their research shows a correlation between air
pollution and the decline in bird populations, and they recommends immediate action
to reduce emissions.

Ans X 1. The scientists have concluded that
7 2. their research shows a correlation between air pollution
X 3. and the decline in bird populations
" 4. and they recommends immediate action to reduce emissions
Q.28 Select the option that expresses the given sentence in indirect speech.

The teacher said, “There are 8 planets in the solar system.”

Ans X 1. The teacher said that there must be 8 planets in the solar system.
7 2. The teacher said that there were 8 planets in the solar system.
75 3. The teacher said that there will be 8 planets in the solar system.
«” 4. The teacher said that there are 8 planets in the solar system.
Q.29 Select the option that expresses the given sentence in passive voice.

The security personnel guided us to the restroom.

Ans X 1. Let the security personnel be guided to the restroom by us.
«” 2. We were guided by the security personnel to the restroom.
7 3. We are guided by the security personnel to the restroom.
X 4. The security personnel had been guided to the restroom.
Q.30 Select the option that expresses the given sentence in reported speech.

Mohan said, “I live in Mumbai”.

Ans X 1. Mohan said that | was living in Mumbai.
" 2. Mohan said that he lived in Mumbai.
7 3. Mohan said that he is living in Mumbai.
7 4. Mohan said that | am living in Mumbai.

Q.31 Choose the sentence with no spelling error.

# 1. Harshita’s expectations aleinated her in her office.
«” 2. The children’s behaviour alienated their mother.
5 3. Teachers alnieate talkative students in the class.

# 4. Poor children sometimes feel alianeted in society.
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Q.32

Select the most appropriate option to fill in the blanks.
If we wish to a democratic country, we must to our constitution.

X 1. govern, fasten
«” 2. remain, adhere
# 3. continue, hold
& 4. uphold, lead

Q.33

Select the most appropriate option to fill in the blank.

Green development is generally differentiated from sustainable development in that
green development prioritises what its proponents consider to be environmental
sustainability economic and cultural considerations.

& 1. atop
o 2. over

7 3.under
4. past

Q.34

Select the option that expresses the given sentence in passive voice.
The committee will review the policy.

Ans % 1. The policy will have been reviewed by the committee.
" 2. The policy will be reviewed by the committee.
7 3. The policy will be reviewing by the committee.
7 4. The policy will reviewing by the committee.

Q.35 Select the most appropriate ANTONYM of the given word.

Exhaustion
# 1. Discouragement

# 2. Establishment
" 3. Replenishment
# 4. Acknowledgement

Select the option that expresses the given sentence in indirect speech.

"l will meet you at the park tomorrow,"” she said.
4" 1. She said that she would meet me at the park the following day.

7 2. She says that she will meet me at the park tomorrow.
#5 3. She said that she will meet me at the park following day.

X 4. She says that she would meet me at the park tomorrow.

Select the option that expresses the given sentence in direct speech.
I inquired if his name was Adwij.

# 1.1say, “Was your name Adwij?”

& 2.1say, “Is your name Adwij?”

«” 3. | said, “Is your name Adwij?”

7 4.1said, “Are you Adwij?”

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

After a lengthy conversation which was / filled with laughter and reminiscence, / they
reluctantly hang up the phone.

# 1. filled with laughter and reminiscence
# 2. No error
X 3. After a lengthy conversation which was

« 4. they reluctantly hang up the phone
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Q.39

Select the option that expresses the given sentence in active voice.

The report was written by the manager.
# 1. The manager is writing the report.

«” 2. The manager wrote the report.
# 3. The manager has written the report.

& 4. The manager writes the report.

Q.40

Select the most appropriate option to fill in the blank.

It was very difficult for him to the topics of assignment among his friends.
# 1. discern

X 2. displace
" 3. distribute
7 4. discreet

Q.4

=

Select the most appropriate option to fill in the blank.

Only students with understanding of the subject matter could follow the
lecture.

# 1.acursory
& 2. an erudite
< 3.asullen

# 4. an arcane

Q.42

Select the most appropriate synonym of the given word.
Infamous

# 1. Tenable

# 2. Incomprehensible
" 3. Notorious

7 4. Notable

Q.43

Select the most appropriate option to fill in the blank.

He was born humble parents in Nasik.
& 1. with

x 2.by
# 3.in
& 4. t0

Q.44

Select the option that expresses the following sentence in passive voice.
The waiter had meticulously served the customers their meals before leaving his duty.

7 1. The customers were meticulously being served their meals by the waiter before
leaving his duty.

7 2. The customers were meticulously served their meals by the waiter before leaving his
duty.

# 3. The customers have meticulously been served their meals by the waiter before
leaving his duty.

" 4. The customers had meticulously been served their meals by the waiter before
leaving his duty.
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Q.45 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
I invite him to my house / when | met him long ago / but he could not accept / because
of his busy schedule.

Ans X 1. because of his busy schedule
# 2. when | met him long ago
# 3. but he could not accept

«” 4. | invite him to my house

Q.46 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. The Christians were persecuted by the Romans during various periods because of
their beliefs, which were popular among the poor.
B. Christianity was made the Empire's official state religion later that century.
C. Constantine the Great, the Roman emperor, announced toleration for Christianity in
313 CE, putting an end to all persecution.
D. The monotheistic Christian faith clashed with the polytheistic Roman religion (many
gods).

Ans X 1.CBDA
« 2. DACB
* 3.ADBC
* 4.DCBA

Q.47 Select the INCORRECTLY spelt word.
Ans X 1.Feminism

«” 2. Mythlogical
# 3. Burglary
# 4. Hierarchy

Q.48 Select the option that expresses the given sentence in indirect speech.
Shilpa asked, “How are you doing today?”

Ans X 1.l was asked by Shilpa how | am doing that day.
«” 2. Shilpa asked me how | was doing that day.
75 3. Shilpa asked me how | am doing today.
7 4.1 was asked by Shilpa how | was doing the other day.

Q.49 Select the INCORRECTLY spelt word.
Ans X 1. Immovable

# 2. Utilitarian
" 3. Terriitoriel

X 4. Prerogative

Q.50 Select the option that expresses the given sentence in indirect speech.
I shall go to my teacher and say, "Madam, | have tried my level best, but couldn't
succeed.”

Ans X 1.1wentto my teacher and said that | have tried my level best, but couldn't succeed.

7 2.1 will be going to my teacher and say that | have tried my level best, but couldn't
succeed.

# 3. 1can go to my teacher and say that | have tried my level best, but couldn't succeed.

«” 4. | shall go to my teacher and say that | have tried my level best, but couldn't succeed.

Q.51 Select the most appropriate synonym of the given word.
Impartial

Ans % 1. Nocturnal
«" 2. Neutral
7 3. Tactile

7 4. Impressionable
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Q.52

The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

Who will be waiting / for me at home when / | will be arrive there tomorrow.
# 1. Who will be waiting
# 2. No error
«” 3. | will be arrive there tomorrow

75 4. for me at home when

Q.53

Select the most appropriate synonym of the given word.

Envy
# 1. Benign
# 2. Benevolence
" 3. Jealousy
7 4. Abjure

Q.54

Select the most appropriate ANTONYM of the underlined word in the following
sentence.
Don’t meddle with things you don’t understand.

«" 1. Dodge
# 2. Hinder
< 3. Dabble
7 4. Disgrace

Q.55

Select the most appropriate ANTONYM for the highlighted word.
Two original manuscripts of this text are still extant.

o 1. extinct
7 2. drool

7 3. persist
7 4. negotiate

Q.56

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

(1) I have / (2) already saw / (3) the Red Fort in Delhi. / (4) No error

X 1.4
X 2.3
X 3.1
#4.2

Q.57

Select the option that expresses the given sentence in passive voice.
She wrote a book.

# 1. Abook will be written by her.
# 2. Abook can be written by her.
# 3. Abook is being written by her.

" 4. Abook was written by her.

Q.58

Select the most appropriate phrasal verb to fill in the blank.
The principal asked the students to their homes immediately.

# 1. head off
# 2. head up
# 3. head out
«” 4. head for
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Q.59

Ans

Select the most appropriate idiom for the underlined word segment.
Some people are very restrictive when it comes to eating while some people eat
excessively whether it’s tasty or not.

«" 1. Eat like a horse
7 2. Eatmy hat

# 3. Eat humble pie
< 4. Eatlike a bird

Q.60

Select the INCORRECTLY spelt word.
" 1. Wearry

# 2. Reconcile
& 3. Quarrel
& 4. Prompt

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has revolutionised the way (1)_____live. From communication to transportation, it
has (2) our lives easier and more efficient. However, there are also (3)
associated with excessive reliance on technology. One of the major concerns is the
(4). of personal privacy in the digital age. Additionally, there is a growing (5),
about the impact of technology on job security.

SubQuestion No : 61

Q.61 Select the most appropriate option to fill in blank no. 1.
Ans X 1.1
# 2.you
# 3.they
o 4. we
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Technology has revolutionised the way (1) live. From communication to transportation, it
has (2) our lives easier and more efficient. However, there are also (3)
associated with excessive reliance on technology. One of the major concerns is the
(4). of personal privacy in the digital age. Additionally, there is a growing (5),
about the impact of technology on job security.
SubQuestion No : 62
Q.62 Select the most appropriate option to fill in blank no. 2.
Ans o 1. made
2. kept
7 3. taken

X 4. turned
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has revolutionised the way (1) live. From communication to transportation, it
has (2) our lives easier and more efficient. However, there are also (3)
associated with excessive reliance on technology. One of the major concerns is the
(4) of personal privacy in the digital age. Additionally, there is a growing (5),
about the impact of technology on job security.
SubQuestion No : 63
Q.63 Select the most appropriate option to fill in blank no. 3.

Ans  # 1. consequences
7 2. benefits
5 3. opportunities

# 4. advancements

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has revolutionised the way (1)_____live. From communication to transportation, it
has (2) our lives easier and more efficient. However, there are also (3),
associated with excessive reliance on technology. One of the major concerns is the
(4) of personal privacy in the digital age. Additionally, there is a growing (5),
about the impact of technology on job security.

SubQuestion No : 64
Q.64 Select the most appropriate option to fill in blank no. 4.
Ans X 1. preservation

" 2. violation
5 3. recognition

# 4. enhancement

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has revolutionised the way (1)_____live. From communication to transportation, it
has (2) our lives easier and more efficient. However, there are also (3)
associated with excessive reliance on technology. One of the major concerns is the
(4) of personal privacy in the digital age. Additionally, there is a growing (5)
about the impact of technology on job security.

SubQuestion No : 65
Q.65 Select the most appropriate option to fill in blank no. 5.
Ans " 1. scepticism

7 2. cannibalism
# 3. commencement

7 4. indifference
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The subjective experience of happiness eludes (1), description and can only be
apprehended through the nonverbal manifestation of a (2) . Similarly, happiness serves
as an indicator or marker of a positive and (3) existence. (4) happiness is a
straightforward process, yet articulating its essence proves to be a (5) task.

SubQuestion No : 66
Q.66 Select the most appropriate option to fill in blank number 1.
Ans X 1. creativity

2. wisely
" 3. Verbal
7 4. rational

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The subjective experience of happiness eludes (1), description and can only be
apprehended through the nonverbal manifestation of a (2) . Similarly, happiness serves
as an indicator or marker of a positive and (3) existence. (4) happiness is a
straightforward process, yet articulating its essence proves to be a (5), task.

SubQuestion No : 67
Q.67 Select the most appropriate option to fill in blank number 2.
Ans o 1.smile

2. face
* 3.job
7 4. tears

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The subjective experience of happiness eludes (1), description and can only be
apprehended through the nonverbal manifestation of a (2) . Similarly, happiness serves
as an indicator or marker of a positive and (3) existence. (4) happiness is a
straightforward process, yet articulating its essence proves to be a (5) task.

SubQuestion No : 68
Q.68 Select the most appropriate option to fill in blank number 3.
Ans " 1. flourishing

# 2. omniscient
X 3. faithful
7 4. watchful

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The subjective experience of happiness eludes (1) description and can only be
apprehended through the nonverbal manifestation of a (2) . Similarly, happiness serves
as an indicator or marker of a positive and (3) existence. (4) happiness is a
straightforward process, yet articulating its essence proves to be a (5) task.

SubQuestion No : 69
Q.69 Select the most appropriate option to fill in blank number 4.
Ans " 1. Experiencing

# 2. Comforting
# 3. Manufacturing
7 4. Speaking
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The subjective experience of happiness eludes (1), description and can only be
apprehended through the nonverbal manifestation of a (2) . Similarly, happiness serves
as an indicator or marker of a positive and (3) existence. (4) happiness is a
straightforward process, yet articulating its essence proves to be a (5) task.

SubQuestion No : 70
Q.70 Select the most appropriate option to fill in blank number 5.
Ans X 1.easy

«” 2. challenging
75 3. epistemic

7 4. covetous

Q.71 Select the option that expresses the given sentence in passive voice.
The onlookers brought the victim to the hospital.
Ans X 1. The victim brought the onlookers to the hospital.
« 2. The victim was brought to the hospital by the onlookers.
7 3. The victim is brought by the onlookers to the hospital.
7 4. The onlookers were brought to the hospital by the victim.

Q.72 Select the underlined word that is INCORRECTLY spelt in the given sentence.

This catagory may include information to support secondary statements, anecdotes,
and wordiness, as shown below.

Ans X 1.anecdotes
< 2. secondary

" 3. catagory
2 4. information

Q.73 Select the most appropriate meaning of the given idiom.
Cross swords

Ans X 1. To stop fighting or arguing
# 2. To do something very quickly
«” 3. To have an argument with someone

7 4. To begin taking part in a new activity

Q.74 Select the option that expresses the given sentence in indirect speech.
"l am going to the store," he said.
Ans 1. He said that he was going to the store.
7 2. He says that he will go to the store.
75 3. He says that he went to the store.

7 4. He said that he is going to the store.

Q.75 Select the most appropriate synonym of the given word.
Magnanimous

Ans o 1. Lofty
2. Utter
7 3. Expressive
< 4.Brave
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Q.76

Select the most appropriate idiom for the underlined word segment.
The poor chef did not believe that his simple recipe would be sold quickly and in large
quantities and he could earn such a profit.

Ans 1. Sell like hot cakes
# 2.Upinarms
# 3. Piece of cake
# 4. Run around in circles
Q.77 The following sentence has been divided into parts. One of them may contain an error.

Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
After the storm subsided, / we discover that our roof / had suffered extensive damage.

# 1. had suffered extensive damage
« 2. we discover that our roof

7 3. After the storm subsided

# 4. No error

Q.78

Select the most appropriate ANTONYM of the underlined word.

A person with civility impresses the surroundings.
7 1. Beauty
7 2. Splendour
& 3. Comfort

" 4. Insolence

Q.79

Select the most appropriate synonym of the given word.
Hinder

25 1. Hide
7 2. Assist
4 3. Obstruct

# 4. Encourage

Select the option that expresses the given sentence in direct speech.
| said that | would be there before the clock struck twelve.

” 1.1 said, “I will be here before the clock strikes twelve.”
# 2. 1said, “I should be here before the clock strikes twelve.”
7 3. 1said, “I will have been here before the clock strikes twelve.”

X 4. | said, “I have been here before the clock strikes twelve.”

Select the most appropriate ANTONYM of the given word.

Penchant
# 1. Liking
# 2. Dishonour
" 3. Dislike
7 4. Dismissal

The following sentence has been split into segments. Identify the segment that
contains a grammatical error. If you don’t find any error, mark ‘No error’ as your
answer.

| have meet / my close friend the day after tomorrow / in his native place.

«” 1. | have meet
# 2. No error
# 3.in his native place

7 4. my close friend the day after tomorrow
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Q.83

Select the most appropriate idiom that can substitute the underlined words in the
following sentence.

The politicians had always been an easy target for the media.
7 1. fishes out of water
7 2. dark horses
" 3. sitting ducks
& 4. the Achilles’ heel

Q.84

Select the INCORRECTLY spelt word.
# 1. Prophecy

75 2. Tobacco
" 3. Questionaire

7 4. Procession

Q.8

o

Identify the INCORRECTLY spelt word in the following sentence and select its correct
spelling from the given options.

Every year, students plagerize without realising it because they just don’t understand
the research process and proper methods of citation.

7 1. rializing
& 2. plagiarise
7 3. citetion

# 4. propper

Q.86
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Icarus was the son of Daedalus, one of King Minos's servants, and his wife Nafsicrate.
Daedalus was imprisoned with his family in a labyrinth that he himself made but, being too
smart and inventive, hatched a plan to escape the labyrinth along with his son. Given the
architectural complication of the labyrinth, it was difficult for them to escape on foot. He also
knew that the shores of Crete were perfectly guarded, and thus escaping via sea was
impossible. The only way left was air. Daedalus managed to create gigantic wings using the
feathers of birds passing above and connected them with wax. He taught Icarus how to fly but
warned him to keep away from the sun. Icarus, being young and overenthusiastic, got excited
by the thrill of flying, started flying high to salute the sun, diving low to the sea, and then high
up again. He was enamoured by his new-found skills and flew higher in his ambitious bent of
mind. Soon, Icarus saw his wings melting and could not do anything as he eventually fell into
the sea and died on impact.

SubQuestion No : 86
What did Daedalus use to make the wings for his escape?
# 1.Branches

" 2. Feathers
< 3. Leaves
4. Wool
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Q.87

Comprehension:

Read the given passage and answer the questions that follow.

Icarus was the son of Daedalus, one of King Minos's servants, and his wife Nafsicrate.
Daedalus was imprisoned with his family in a labyrinth that he himself made but, being too
smart and inventive, hatched a plan to escape the labyrinth along with his son. Given the
architectural complication of the labyrinth, it was difficult for them to escape on foot. He also
knew that the shores of Crete were perfectly guarded, and thus escaping via sea was
impossible. The only way left was air. Daedalus managed to create gigantic wings using the
feathers of birds passing above and connected them with wax. He taught Icarus how to fly but
warned him to keep away from the sun. Icarus, being young and overenthusiastic, got excited
by the thrill of flying, started flying high to salute the sun, diving low to the sea, and then high
up again. He was enamoured by his new-found skills and flew higher in his ambitious bent of
mind. Soon, Icarus saw his wings melting and could not do anything as he eventually fell into
the sea and died on impact.

SubQuestion No : 87

Which of the following word best defines the word ‘labyrinth’ as it is used in the
passage?

% 1. Palace

X 2. Astructure made of pedestals
" 3. Maze

X 4. Dungeon

Q.88

Comprehension:

Read the given passage and answer the questions that follow.

Icarus was the son of Daedalus, one of King Minos's servants, and his wife Nafsicrate.
Daedalus was imprisoned with his family in a labyrinth that he himself made but, being too
smart and inventive, hatched a plan to escape the labyrinth along with his son. Given the
architectural complication of the labyrinth, it was difficult for them to escape on foot. He also
knew that the shores of Crete were perfectly guarded, and thus escaping via sea was
impossible. The only way left was air. Daedalus managed to create gigantic wings using the
feathers of birds passing above and connected them with wax. He taught Icarus how to fly but
warned him to keep away from the sun. Icarus, being young and overenthusiastic, got excited
by the thrill of flying, started flying high to salute the sun, diving low to the sea, and then high
up again. He was enamoured by his new-found skills and flew higher in his ambitious bent of
mind. Soon, Icarus saw his wings melting and could not do anything as he eventually fell into
the sea and died on impact.

SubQuestion No : 88
Which of the following does NOT describe Daedalus?

«” 1. Former ruler of Crete
X 2. Father of Icarus
7% 3. Husband of Nafsicrate

X 4. Servant of King Minos

Q.89
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Icarus was the son of Daedalus, one of King Minos's servants, and his wife Nafsicrate.
Daedalus was imprisoned with his family in a labyrinth that he himself made but, being too
smart and inventive, hatched a plan to escape the labyrinth along with his son. Given the
architectural complication of the labyrinth, it was difficult for them to escape on foot. He also
knew that the shores of Crete were perfectly guarded, and thus escaping via sea was
impossible. The only way left was air. Daedalus managed to create gigantic wings using the
feathers of birds passing above and connected them with wax. He taught Icarus how to fly but
warned him to keep away from the sun. Icarus, being young and overenthusiastic, got excited
by the thrill of flying, started flying high to salute the sun, diving low to the sea, and then high
up again. He was enamoured by his new-found skills and flew higher in his ambitious bent of
mind. Soon, Icarus saw his wings melting and could not do anything as he eventually fell into
the sea and died on impact.

SubQuestion No : 89
According to the passage, how did Icarus die?
& 1. He couldn’t fly well and fell.

% 2. He could not swim and so he drowned when he fell into the sea.
X 3. He had a sun-stroke.

« 4. His wings melted from the heat of the sun and he fell.
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Comprehension:

Read the given passage and answer the questions that follow.

Icarus was the son of Daedalus, one of King Minos's servants, and his wife Nafsicrate.
Daedalus was imprisoned with his family in a labyrinth that he himself made but, being too
smart and inventive, hatched a plan to escape the labyrinth along with his son. Given the
architectural complication of the labyrinth, it was difficult for them to escape on foot. He also
knew that the shores of Crete were perfectly guarded, and thus escaping via sea was
impossible. The only way left was air. Daedalus managed to create gigantic wings using the
feathers of birds passing above and connected them with wax. He taught Icarus how to fly but
warned him to keep away from the sun. Icarus, being young and overenthusiastic, got excited
by the thrill of flying, started flying high to salute the sun, diving low to the sea, and then high
up again. He was enamoured by his new-found skills and flew higher in his ambitious bent of
mind. Soon, Icarus saw his wings melting and could not do anything as he eventually fell into
the sea and died on impact.

SubQuestion No : 90
Q.90 What is the moral of the story in the passage?
Ans X 1.0One should not fly carelessly.

7% 2. One should listen to one's instincts.
4 3. One should know their limits.

% 4. One should not have an ounce of ambition in them.

Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “I don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.

Eventually, he had abused Einstein’s equation of E = mc? that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 91
Q.91 What is the central theme of the passage?
Ans X 1. Einstein and his life

X 2. Einstein and his love for music
4" 3. Atomic war and its consequences

% 4. Science and its positive side
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Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “I don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.

Eventually, he had abused Einstein’s equation of E = mc? that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 92

Q.92 Why did Einstein refuse to eat?

Ans

X 1. As he felt happy
o 2. As he felt guilty
% 3. As he felt worried
X 4. As he felt sick
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Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “I don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.

Eventually, he had abused Einstein’s equation of E = mc? that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 93

Q.93 Select the most appropriate ANTONYM of ‘Rise’ from the passage.

Ans

o 1. Set
*® 2. Aim
% 3. Level
% 4. Fix
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Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “I don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.

Eventually, he had abused Einstein’s equation of E = mc? that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 94

Q.94 Which instrument did Einstein play?

Ans

” 1. violin
X 2. piano
X 3. guitar
X 4.drums
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Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “I don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.

Eventually, he had abused Einstein’s equation of E = mc? that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 95
Q.95 Select an appropriate title for the passage.
Ans X 1.Sunsetin the city

" 2. War and Destruction
% 3. Death in Hiroshima
# 4. Einstein and his Violin
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Comprehension:

Read the given passage and answer the questions that follow.

Most people are not very familiar with the concept of artificial intelligence (Al). As an
illustration, when 1,500 senior business leaders in the United States in 2017 were asked
about Al, only 17% said they were familiar with it. A number of them were not sure what it was
or how it would affect their particular companies. They understood there was considerable
potential for altering business processes, but were not clear how Al could be deployed within
their own organisations.

Despite its widespread lack of familiarity, Al is a technology that is transforming every walk of
life. It is a wide-ranging tool that enables people to rethink how we integrate information,
analyse data and use the resulting insights to improve decision making. Our hope through
this comprehensive overview is to explain Al to an audience of policymakers, opinion leaders
and interested observers, and demonstrate how Al already is altering the world and raising
important questions for society, the economy and governance.

In this paper, we discuss novel applications in finance, national security, health care, criminal
justice, transportation and smart cities, and address issues such as data access problems,
algorithmic bias, Al ethics and transparency and legal liability for Al decisions. We contrast the
regulatory approaches of the U.S. and European Union, and close by making a number of
recommendations for getting the most out of Al while still protecting important human values.
In order to maximise Al benefits, we recommend the following steps for going forward:
Encourage greater data access for researchers without compromising users’ personal
privacy,

invest more government funding in unclassified Al research,

promote new models of digital education and Al workforce development.

SubQuestion No : 96
Q.96 According to the writer, Al is a technology that
Ans ¥ 1.lacks certain important applications

X 2. does not have any benefits
X 3.is not a wide ranging tool

" 4. transforms every walk of life

Comprehension:

Read the given passage and answer the questions that follow.

Most people are not very familiar with the concept of artificial intelligence (Al). As an
illustration, when 1,500 senior business leaders in the United States in 2017 were asked
about Al, only 17% said they were familiar with it. A number of them were not sure what it was
or how it would affect their particular companies. They understood there was considerable
potential for altering business processes, but were not clear how Al could be deployed within
their own organisations.

Despite its widespread lack of familiarity, Al is a technology that is transforming every walk of
life. It is a wide-ranging tool that enables people to rethink how we integrate information,
analyse data and use the resulting insights to improve decision making. Our hope through
this comprehensive overview is to explain Al to an audience of policymakers, opinion leaders
and interested observers, and demonstrate how Al already is altering the world and raising
important questions for society, the economy and governance.

In this paper, we discuss novel applications in finance, national security, health care, criminal
justice, transportation and smart cities, and address issues such as data access problems,
algorithmic bias, Al ethics and transparency and legal liability for Al decisions. We contrast the
regulatory approaches of the U.S. and European Union, and close by making a number of
recommendations for getting the most out of Al while still protecting important human values.
In order to maximise Al benefits, we recommend the following steps for going forward:
Encourage greater data access for researchers without compromising users’ personal
privacy,

invest more government funding in unclassified Al research,

promote new models of digital education and Al workforce development.

SubQuestion No : 97
Q.97 Identify the key idea of the first paragraph.
Ans X 1.0nly 17% of senior business leaders polled said they were not familiar with Al

X 2. There is clarity on how to deploy Al in an office environment
X 3. All of them are aware of the capability of Al

" 4. Al has considerable potential for altering business processes
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Comprehension:

Read the given passage and answer the questions that follow.

Most people are not very familiar with the concept of artificial intelligence (Al). As an
illustration, when 1,500 senior business leaders in the United States in 2017 were asked
about Al, only 17% said they were familiar with it. A number of them were not sure what it was
or how it would affect their particular companies. They understood there was considerable
potential for altering business processes, but were not clear how Al could be deployed within
their own organisations.

Despite its widespread lack of familiarity, Al is a technology that is transforming every walk of
life. It is a wide-ranging tool that enables people to rethink how we integrate information,
analyse data and use the resulting insights to improve decision making. Our hope through
this comprehensive overview is to explain Al to an audience of policymakers, opinion leaders
and interested observers, and demonstrate how Al already is altering the world and raising
important questions for society, the economy and governance.

In this paper, we discuss novel applications in finance, national security, health care, criminal
justice, transportation and smart cities, and address issues such as data access problems,
algorithmic bias, Al ethics and transparency and legal liability for Al decisions. We contrast the
regulatory approaches of the U.S. and European Union, and close by making a number of
recommendations for getting the most out of Al while still protecting important human values.
In order to maximise Al benefits, we recommend the following steps for going forward:
Encourage greater data access for researchers without compromising users’ personal
privacy,

invest more government funding in unclassified Al research,

promote new models of digital education and Al workforce development.

SubQuestion No : 98

Q.98 The most important recommendation made by the author in the third paragraph
regarding Al is to .

Ans X 1. explain Al to policy makers
% 2. discard Al to save the future
X 3. address issues such as lack of potential

«” 4. get the most out of Al while still protecting human values

Comprehension:

Read the given passage and answer the questions that follow.

Most people are not very familiar with the concept of artificial intelligence (Al). As an
illustration, when 1,500 senior business leaders in the United States in 2017 were asked
about Al, only 17% said they were familiar with it. A number of them were not sure what it was
or how it would affect their particular companies. They understood there was considerable
potential for altering business processes, but were not clear how Al could be deployed within
their own organisations.

Despite its widespread lack of familiarity, Al is a technology that is transforming every walk of
life. It is a wide-ranging tool that enables people to rethink how we integrate information,
analyse data and use the resulting insights to improve decision making. Our hope through
this comprehensive overview is to explain Al to an audience of policymakers, opinion leaders
and interested observers, and demonstrate how Al already is altering the world and raising
important questions for society, the economy and governance.

In this paper, we discuss novel applications in finance, national security, health care, criminal
justice, transportation and smart cities, and address issues such as data access problems,
algorithmic bias, Al ethics and transparency and legal liability for Al decisions. We contrast the
regulatory approaches of the U.S. and European Union, and close by making a number of
recommendations for getting the most out of Al while still protecting important human values.
In order to maximise Al benefits, we recommend the following steps for going forward:
Encourage greater data access for researchers without compromising users’ personal
privacy,

invest more government funding in unclassified Al research,

promote new models of digital education and Al workforce development.

SubQuestion No : 99
Q.99 According to the writer, Al could improve
Ans X 1. worldview

2. debate and questions
% 3. information

4" 4. decision making
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Comprehension:

Read the given passage and answer the questions that follow.

Most people are not very familiar with the concept of artificial intelligence (Al). As an
illustration, when 1,500 senior business leaders in the United States in 2017 were asked
about Al, only 17% said they were familiar with it. A number of them were not sure what it was
or how it would affect their particular companies. They understood there was considerable
potential for altering business processes, but were not clear how Al could be deployed within
their own organisations.

Despite its widespread lack of familiarity, Al is a technology that is transforming every walk of
life. It is a wide-ranging tool that enables people to rethink how we integrate information,
analyse data and use the resulting insights to improve decision making. Our hope through
this comprehensive overview is to explain Al to an audience of policymakers, opinion leaders
and interested observers, and demonstrate how Al already is altering the world and raising
important questions for society, the economy and governance.

In this paper, we discuss novel applications in finance, national security, health care, criminal
justice, transportation and smart cities, and address issues such as data access problems,
algorithmic bias, Al ethics and transparency and legal liability for Al decisions. We contrast the
regulatory approaches of the U.S. and European Union, and close by making a number of
recommendations for getting the most out of Al while still protecting important human values.
In order to maximise Al benefits, we recommend the following steps for going forward:
Encourage greater data access for researchers without compromising users’ personal
privacy,

invest more government funding in unclassified Al research,

promote new models of digital education and Al workforce development.

SubQuestion No : 100

Q.100 What is the main idea of the first paragraph of the passage?

Ans

X 1. Al could not alter business models.
X 2. Many are familiar with the concept of Al.
# 3. Business leaders are clear on how Al could be deployed.

«” 4. The concept of Artificial intelligence and its familiarity in business domain.
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